: ir1"em Tamburlu Sulama Makinesi Montaj Talimati
’ Assembly Guide For Automatic Hose Reel Irrigation




Ana sasiye 2 adet tekerlegi takiniz ve sikma civatalari ile sabitleyiniz.

Install 2 wheels on the main frame and fix them with bolts.




Ceki okunu ana saseye pimler ile sabitleyin.

Fix the drawbar to the main frame with pins.




On destek ayagini (hidrolik silindiri ile ) saseye sabitleyiniz.

Assemble the front support leg (with the hydraulic cylinder) to the main frame.




Sag ve sol destek ayaklarini pimler yardimi ile saseye takiniz.

Attach the right and left support legs to the chassis with pins.




Piston Uzerine bagli halde sevk olmus hortum, vana ve traktér
hidrolik baglantilarini ana sase tizerindeki yerine iki civata ile
sabitleyin. Hortumlarin resimdeki gibi sasenin altindan
gecmesine dikkat ediniz.

Secure the hose, valve and tractor hydraulic connections, which
. are attached to the piston, with two bolts in place on the main
frame. Make sure that the hoses pass under the chassis as in
the picture.



ALT AKSAM HAZIR
MAIN FRAME ASSAMBLY




Tambur alt sasisini ana sasi Gzerinde bulunan biyiik rulmana 10 adet M14x35 civata ile sabitleyiniz.

Secure the drum sub frame to the big bearing on the main chassis with 10 M14x35 Bolts.

S ITTEITITTRRTR)

>
[






Sanzimani 6ncelikle tambur merkezindeki su girig bogazina baglayin.

First connect the gearbox to the water inlet in the centre of the drum.




Sanzimani alt kismindan makine yan sacina 4 adet M12x30 civata ile sabitleyin.

Secure the transmission from the bottom to the machine side plate with 4 M12x30 bolts.




Sevkiyat esnasinda hiz kontrol
unitesinin by-pass vanasina giden
kablosu sase lizerinde bulunmaktadir.

The cable of the speed control unit to
the by-pass valve is shipped on the
frame.

Sanziman blokunu yerine sabitledikten
sonra bu kablo soketini vanaya takiniz.

After fixing the transmission group,
attach the cable socket to the valve.




Son olarak stoplama kolunu sanzimana baglayiniz. Stoplama kolu sevkiyat esnasinda makine tizerinde hazir halde bulunmaktadir.
Gosterilen noktadan sanzimana sabitlenmesi yeterli olacaktir.

Connect the stop shaft to the gearbox. The stop shaft is supplied as ready to assemble. It will be sufficient to fix it to the gearbox from

the point shown above.

~




Kanat arabasi tagima kollari pimler vasitasiyla sasiye sabitlenir.

Fix boom carrying levers to the frame by pins.




Montaj islemimizin TAMBUR kismi tamamlanmustir.

The drum part of our assembly process is completed.




Sulama kanadinin montaji;

Sulama kanadi asagidaki ana pargalar halinde sevk edilmistir. Montaji icin genis bir alani, mimkiin ise acik alani kullaniniz.

Installation of irrigation wing;

The irrigation boom is shipped in the following main parts. Use a large area for installation, if possible, open area.

prd
A
\V

I
N



Kanat arabasi tekerlekleri pimler ile kanat orta sasisine monte edilir.
Boom cart wheels are mounted on the wing centre frame frame with pin.




Sabitleme esnasinda sasinin tekerlekleri ortalamasina dikkat ediniz.

When fixing, pay attention to center the frame with the wheels.

- | " ‘7.
A‘ ' [

': =1 -_.'_":1




Kanat arabasi montaj edildikten sonra tarlaya tasinir.
After the boom cart is mounted, it is transported to the field.




Birinci kanatlar monte edilip halatlar ile sabitlenir.
The first booms are mounted and fixed with ropes.




Diger kanatlar da montaj edilir.
The other booms are also assembled in sequence.




Kanat arabasi montaji tamamland..

Sevk olmus parcalar arasinda bulunan uzatma hortumlarini ve sulama memelerinden tercih ettiginiz él¢iide olanlarini kanat
uzerindeki su ¢ikis noktalarina baglayiniz.

Boom and cart assembly is completed.

Connect the extension hoses and irrigation nozzles (the size you prefer) to the water outlet points on the boom.




Hazir olan sulama makinesini traktér arkasina takarak kanadin 6nine baglanti igin getiriniz ve iyice yaklastiriniz. Tamburu ¢ok az
miktar bosa sararak hortumun biraz saliniz ve flangindan kanat arabasi hortum girisine baglayiniz. Kanat arabasi kaldirma kollari alt
pozisyonda iken kanat arabasini tambura dogru ¢ekip hidrolik }2:::;fin kanat arabasini kavramasini saglayiniz.

Attach the irrigation machine that installed to the back of the tractor, bring it in front of the wing for connection and get closer as
much as possible. Rotate the drum with a small amount, swing the hose and connect it to the wing car hose inlet from its flange. With
the tractor lift arms in the lower position, pull the wing cart towards the drum and allow the hydraulic arms to grasp the wing cart.




Makine kullanima hazir.
The machine is ready to use.




	Slayt 1
	Slayt 2
	Slayt 3
	Slayt 4
	Slayt 5
	Slayt 6
	Slayt 7
	Slayt 8
	Slayt 9
	Slayt 10
	Slayt 11
	Slayt 12
	Slayt 13
	Slayt 14
	Slayt 15
	Slayt 16
	Slayt 17
	Slayt 18
	Slayt 19
	Slayt 20
	Slayt 21
	Slayt 22
	Slayt 23
	Slayt 24

